RYNPHARE — BRREHE e AL

Series Helical-Bevel Gear Reducer




EEN B RIS 5 ~ IR SFE T

AR B PR AT AL 1969 4, HIRIEE R A RO RAIRBGT ~ 18 ~ R o
N FEIRASSREF AN ~ REHYEG, BCABOMRIEST - REFE R - BHOTI AR, 86t
P 3% A 2 B 12 38 FH A B A S 45 TR, ~ Bl o R A/ =) RS F AR
i, BN THoiiBd TAERATAYBESERE S, B0 A& sUR IR B E) R AR ROIRERE LUK JE
SR BRI A ks ZEK o

BT EERF ), FERERENERT L TIFEEES, EXFEMAEEMLEES, WSERNEAERL
1000 5 &1, ETFEEESEOE FE (BEERE) - % ABOVEGEAR (##minL) - Flfk ABOVEHEAT
(BEH) |, FIAKFABMOTOR (EREARE) |, 54 [ o fERBIRRE: Big, H5E, B, %8 = (AAZEN
—EINTRE, K2 9 HEEITHEE - fENEEELOEN, SIFETEERZL ORI - SR P RURE s -

TR & B LB TSRO0 - T P T e — R IR ACE A B LM T3, U4 R
PEREIN THEH, o AN IARBR 8 LT B, SEART PN TR, i L ) L (7 AR PR R P T e
5 o — 291 B B A0 T 2 T P T A8 4 L AR 1A A o o
VRO B, %, HSEREIRE, DR SRR E | R RR R - E
ST ~ U~ SRELY B — U L% AR DA S TS LR R R, AR [ B R~ R
PERRE L, R B AR OF Aot MR - KIRET SR E BT ) -

RN ZE, MEZEARER RS E M e mR, EEARE ) EERREER, S
fRIAR AR © IRt B R [y, A IRAE e IR il TCIROR A, © R AR e R TR
AT BRURCERS; MR mORuEs, SEBORERE o O RAR/NE Sy, HEREDZR 6 T iz
BRI ~ BIZhEK 150 TR AR E#aAE; BREA M LIMING 4, BEZEF TR K

B -

R B T % 4.0 R A B LARE G, R TSRS OB R R A
EAE IR B E — (B 2 BRSOl I e T % 8 38 \ & B0 fr A
T SR PR e Rt A A o B ATRGE ST PR B S B R
B EEGE ~ BHUI - DEOK B R ECR 5\ EI AR - RIS A R A R (L - T
e~ LR NI o Rea % RBTDF IR, M b b A 3 LR B T, R
YRR R TEI ~ (RBRE - o b S IRAG RN o [RILTGPIVR T 3 ASrat i g auie  5h, 1
BB SUR IR R AR - H BT SO 28 A S R R 8
% A -

FEAFRIEFEZFEEL 1 9 9 74818 SO 9000 BRI, BHEIHEMS A BRENMmEGRES 2508
M-SR ERRER G, TRl REREGE, SCECoE A AR AR ERE,  ERRAR g I B 1 B
RIEEE AR, MERITALERREE, F-TIHGERBLG, AIMuEReER, &eMaotr, BE, RN
F o IRBGERVRRE ~ ROTERIERS - SRR EIRGEE R A ORIER -

PR AR E RIS, ERE R AT AR S AAS, 3R R I A R E B 3 _E TR
12 o AEFFHE A ETHAH ~ PAEE, BmE, HAICBUSEE - 618 - FEIRE - BERSBZHER, FE M RN
SRR S 0 1, R AR AR BEAESE SRS -

MEEWA O AR AFE GZBEMEEMER, HEERIIER, NERER SEERKRILEE « BHAR KRN
AIFE AL BB B YR S5 7 S DRSS 1) AR T T8 s — ~ B INED M T8~ ol - 50 s Es, A
BIRANEZE N, 150 FIRAYEE — M IR T min BRI - AR USRS ERIER, BESRETENE
HACER, NEEHEREE, BIE RIS -




EED

Quality First&
Customer's Satisfaction

CABIRIH TR
FFI3D-CAEERIHATIR
DR | XSRkEL
SRR T O RIR
HESTEHFARZ R SRS
£, LRSI
AN AR E |

TEINSAC R R IREEATLAY
{EF% .

SRENINTRS
FIBHURA S 9GS
RER , RANBERE
EFCNCEIRANTHUAR,

IR, LUSEZEMINT

BEMBIEAR , &
FIEMRE | BIREE
AR,

BaiftinTiReE
SRR S ED T
ARPREFIN AR IEADIA
A BABTIRRLT
—RIEHEE MR
NTiRE , LEREER
FISHREII T . 79
AN TREREHR
HERRERIEA.

FoHAIHIERIA
(FERRIRANS TR R
HARRESEEINT
%% HEAEERE
R
FRER—ERIEIR
(Close Loop ) £/=iife.

IS

IRSEESIRINERE
REEES ORI
MEMIEERE , BegE&
SZRERIBERT | REF

=1 Pa
%Hw mgo

SHEABLRER

RIS

[EmR] EFIZER
R—a0S. HIIEE
BERRINE | 85— m
REKREIT B SHImER
S | RUEMRSEm
REH., 8= 1EMHNE
PIRGEFHEINHTE | 2R
FeRmAYIE RS IIIL |
EHEER , LITefal
RYER R AEZ R MR,
mERR VA HANEINR
& (FEEAINE.

[TarEHES |, B5eRlER]
BAMEZANEINNER | B
AR SEBICRIE.

& LIMING 3



AK Helical-Bevel Gear Reducers

Indication of Model Numbers
DA SRR

P il B Ui %

o | F | B Jargeogoisg L

PRI LAY
Type

AK

EWAL N
Output

O il

Hollow shaft

S
Solid shaft

oL =20
Output Flange
FoRVE=

Big Flange

Z NE=
Small Flange

THIE
Torque arm

17
Nothing

VAVAE TN
Input
B AJjiE=
Input Flange

D A7k
Input shaft

[JELEHE
Motor

MES
Model
37
47
57
67
77
87

IR EE
Ratio
6,8
10,15
20,25
30,40
50,60
70,80
90,100
110,120
140,150
160,180

AT kW
Input kW

0.18kW :0.18
0.25kW : 0.25
0.37kW : 0.37
0.55kW : 0.55
0.75kW : 0.75
1.1kW : 1.1
1.5kW : 1.5
2.2kW : 2.2
3.0kW : 3.0
3.7kW : 3.7
4.0kW : 4.0
5.5kW : 5.5

Hh 75
Output direction
L: /& Left
R:fi  Right
V: X fl Double




Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

Selection of type
PR R I £

PR FIZ 227 wome THLSE R
Standard Flange EEsessories Torque arm Accessories

B Nk

Input Flange
+

O 3t /7l

Hollow shaft

AKOB AKOFB/AKOZB AKOTB

B ANJjiEE
Input Flange

+
[ szt 7%
Solid shaft

AKB AKFB/AKZB AKTB

S iAHE
Motor

+
O 73ty

Hollow shaft

AKO AKOF/AKOZ AKOT

(A HE
Motor

+
[ szt 7%
Solid shaft

AK AKF/AKZ AKT

DERWYNAL
Input shaft
+

O st /ol

Hollow shaft

AKOD AKOFD/AKOZD AKOTD

DR NAL
Input shaft

+
2 ki
Solid shaft

AKD AKFD/AKZD AKTD

& LIMING 5



Selection of Motor
Ok

General Notices

Electricity: Single phase, 3 phase, voltage frequency,
capacity of transformer, etc.

Loading machine: Required horsepower, load torque
characteristics.

Special Conditions of Use:

1.Rush reverse or stop.

2.Frequent start-up or stop.

3.Specially large Start-up torque required.

4 Where linking with backward traveling machinery.

—BERE

IR B - =AM BEAR  BRSRARS
TN © BT I3 OB RERE -
RERRAE FH 24

1. STk -

2. A hiE I -

3. WK Z A shisE -

4. SERIEEHIMIELR -

. 27 .
Hit DC - A AC
Explosion Proof Bjj & kg {Z< Moisture

Corrosion Resistance [

Environment

% i Ambient Temperature

Low Noise 1" K Elevation
A it P Open
COOllng ~ jg'l] Enclosure %‘J‘ lﬂ Full Enclosure
Metric sys. IEC. BS. IIS Al FritE R T
English sys. NEMA Standard Dimension #7 Indication
200/400,220/380 A5 H IR R P R 200/230,350/380
220/440,230/460 ~hy 1 voltage Voltage Single Voltage - 400/415,440/460V
208/415
B
50/60 HZ I 50,60 HZ
Frequency
Single Phase #.4H A% —H Three Phase
Phase
2/4,4/8,6/12 x % 2 IRE
i 2,4,6,8
4/6,6/8,6/12 Pole Change Pole Single Pole
Yttt i 98 45 2% Wet-Resistance
AEB,FH | i 1o t i ¥4 45 %% Cold-Resistance
2Ly it 462% QOil-Resistance
Hif DC M S AC
Brake

FIBA AR B DAL 2 AR S B PR R ~ AR ik ~ A HSNE B R T -
LIMING standard gear reducers use low voltage, 3 phase induction motor, full-enclosed

outer fan cage rotor.




Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

AK Explosion Drawing
AK R R G 50 8 E

%5 TR I TAAAHR LAAAHR
NO. Name of Parts NO. Name of Parts . Name of Parts
1 [ Oil Seal 12 i Oil Seal 23 |0 Axis
2 |HH#2 Oil Plug 13 “F4744 Pin 24 | fa¥EfiEkHizK Angular contact ball bearings
3 |N/SAIIRZ Hex Screw | 14 |\7RER%H7K Ball Bearing | 25 | Hik#i Moter Flange
4 # Cover 15 |hi%t Gear 26 |N7NFI%Z2 Hex Screw
5 |JREkHh7K Ball Bearing | 16 |# Key 27 |RERH7K Ball Bearing
6 |t Ji%h Output Shaft 17 |HEthi%e Bevel Gear 28 R #1¥f R Snap Ring
7 |8 Key 18 |HEithi#t Bevel Gear 29 | fAHEfIRH K Angular contact ball bearings
8 |Ui%t Gear 19 |# Key 30 |ihi%t Gear
9 |JRERHh7K Ball Bearing | 20 |RERHH7K Ball Bearing | 31 | ik Moter
10 P47 Pin 21 |# 7 Packing
11 |4 Cover 22 i Key

& LIMING 7



Usage and Installation

JRIEA 2

fE RN E

BB ARl ~ 5~ B0y~ BT JROE LB
TR N3 s B R E AT A -

ST

D BT B FE RS -
LR Z BT R Bl X R A - R LR
0°C ~40°C 5 ey il B AR IR B

EETTR
AR CIER A B FI R - 25 5L E]
JEFF AL ETAT - REEATAE S84 - B iR
EEnE S

P BC s 2 B T b - 200 R - O3B
Se e i B SRR ARSI -

5 ~ BERE B DGR T AR C I N S R SR A il 7 LY
P N Ay e RIS 2O (R Rl
6 LA ) 5 ez At - Jo e E I
AT AZEAER - AT G A S A T S2 4 -
BRAAAFGRNEZ M - B ETE
PR S R SR o

il T BRSO A -

Ok

HIRHEZ TR T 10% B - Dk f RS
B IFE I R PR R

Ly S A AT RS i
iR R PR IR -

UL R PR SR 42 s (A A28 A B
R MG IRE -

FEBCAR AR (P - A AR - A (A
AL ik -

Check Before Operating

Check if the type, model No., horsepower, shaft
direction, reduction ratio, revolution direction and
input/output shaft revolutions are inaccordance with
the standard.

Place

A flat and solid base is one of the requirements for
installation.

The environment for installation shall be dry and well
ventilated, with ambient temperature at 0°C to 40°C .
Abnormal high or low temperature shall be dedicated.

Connecting Method

If coupler is used to connect input or output shaft,
make sure they are firmly fixed and paralleled. The
base seat shall be anchored with proper bolts.

All of the components shall be properly assembled to
the shaft. Avoid hammering and over-tight assembly
which could damage the bearing.

The pulley, chain pulley and gear shall be assembled
as close to the bearing as possible to minimize the
curving stress. The chain pulley and belt pulley used
to connect the output shaft shall be properly chosen
(within 6 times as large as the diameter of output
shaft) and used in accordance with H7 tolerance so
as to keep out of abnormal noise and harm to the
shaft surface.

Proper amount of grease can be applied to B input
hole to ensure the hole against over-wearing and
making abnormal noise.

The application of anti-rust paint can keep the shaft
from rusting.

Motor

The voltage variation over 10% could cause motor to
burn out and reduce the torque of output shaft.

Motor is subject to damage due to overload.
Improper connection could cause motor to burn out.

High-moisture environment could cause the brake of
motor rusted and disabled.

An appropriate motor shall be applied with the
frequency converter while the low frequency is
required in usual condition.




Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

Solutions and Reasons for The General Faults of Reduction Gears

KR TN — AR R R L B T v

bt bt ] TN
Fault Description Reasons Solutions
AT IS R B 2 3
MHESBUNE-Y: 213 TE T AL 3 Vi i
77 S R R A Y TR A B
Over-Heating verlogd: . Adjust to proper I(_)adlng.
Over friction of oil seal. Drop lubricat at oil seal.
Improper connection between driving Adjust to proper position.
shaft and the transmission device. Use larger reduction gears.
Large impact loading.
AT IS R B 0 2 A A
AR A4 B A R R &S 7
THE A 2B H L WA 7SI & B T
77 S e SR B IE A Y TR YA B
WA s Jig B AL
e B E AR Lzl B E
TRIENLIS & Overload. Adjust to proper loading.
Noise Bearing damaged or too large clearance. Replace bearing.
Lubricant oil shortage or deterioration. Fill in adequate lubricant oil as indication.
Shaft and the transmission device Adjust to proper position.
improper connection between driving. Tighten bolt.
Bolt loose. Fix transmission device properly.
Improper installation of transmission
device.
MHESEEV] FESES)
HhELE MRAG 7 DN 3 i Vi
WAL I Jie g A
R HhFERI R BHh R
Oil Leakage Oil seal damaged. Replace oil seal.
Too much oil. Fill in adequate lubricant oil as dication.
Screw loose. Tighten screw.
Outer shell fractured. Replace outer shell.
AT IS B R B 2 0 Y £ fif
A S 7
RN B 574
e BE 4 Bk
LU 387N BE ik
700N (N5
SamA T N A S
utput Shaft g .
Cannot Rotate Over!oad. Adjust to proper loading.
Bearing damaged. Replace bearing
Invasion by foreign objects. Take out foreign objects.
Gear worn-out. Replace gear.
Motor out of order. Repair motor
Incorrect wiring. Wiring as indication.
Large impact loading. Use larger sized gear reducer.

PAE R 5 — Rt s R R - o Heph s b s T - i S AN FHRES - BT SRR IER RS -

The above items are general fault descriptions. In case of other kinds of faults, please contact with us to obtain
most correct services.

& LIMING 9



MODEL L AK3/

165

#A& R~} Basic
5-M8xP1. 25 F V12
6 iUk FRPCDB94 117 4-M10xP1. 5
- 35 F 120
)i | ;}/‘
=
S T HTTH S 7
D B D
&
— 50 28| A VIEW
i TR =
|
o 120 176.5
A
AF1R Input
A9
AN ALD
Input Flange o)
J
ik HIE = -
[aa]
Motor B
(3
176.5 146. 3
X M5xP0. 8
% A0 5 FIE10
AL f{ﬂ h T ool ?%?
Input Shaft SR “1s] LA
% o 916 h7
s ni I ”
A9 A10 B1 B2 B3
0.18kW
128 4 | 1 25
0.25kW | 89.5 130 | 110 | M8x1.25 | 160 | 5 218 |223.5| 133
0.37kW 163 | 5 | 14 31
0.55kW
0.75kW | 122 [21.8| 6 | 19 | 165 | 130 | M10x1.5 | 200 | 4.8 | 26 | 230 [249.5| 161
1.1kW
1.5kW | 132 |27.3| 8 | 24 | 165 | 130 | M10x1.5| 200 | 4.8 | 51
2.2kW 241 | 315 | 181
soqy | 133313 8 | 28 215180 |M12x1.75 250 | 58 | 64

10



Hi 71R~F Output

Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

120
60 60 110
” ¢ q 20
o Q N
. e $ 813 ] 2.5
Q
N —
Shaft s M10x22
@ q P o 1 J2 @ )
EiiVAL
Torque arm @ 0 © Q)
Eu
22.5 22.5
60 24.5 84.5 __50
J‘ Lo e
\ Y 8@ — SO
hEM § i| SIS =5
A58 A8
Flange 7 7
. ==l ==l
10 10
]
50 "3
° A
/J\II\\ o ©Of
% 2|5
o s
i 2N —
1 | O\ 8
o]
At
12 11.5
0 | | | | | |
O O O O O O O O O
6 21.8 9.4 29.8 6.9 |43.75| 4.7 59.6 | 345 | 875 | 235 | 1193 | 1.72
8 9.35 26 13.9 19 19.2 12 28.5 9 38.8 6.6 57.0 4.5 77.8 3.3 | 1141 | 225 | 155.7 | 1.65
10 12.2 21 18.1 15 251 10.3 | 35.0 7.5 47.7 5.5 70.0 | 3.75 | 955 | 2.75 | 140.0 | 1.87 | 191.0 | 1.37
15 16.7 | 1565 | 249 | 11.2 | 345 7.6 51.9 4.5 70.8 3.3 [103.8| 2.25 | 141.7 | 1.65 | 207.7 | 1.12
20 222 | 10.5 | 331 7.5 45.7 5.1 65.6 3.7 894 | 275 | 131.2| 1.85 | 179.0 | 1.38
25 28.0 8.5 41.8 6.2 57.8 4.2 87.5 28 | 119.2 | 2.08 | 175.0| 1.4 | 234.0 | 1.03
30 37.4 6.4 55.7 4.8 771 32 | 1141 | 225 | 1555 | 1.65 | 228.3 | 1.13
40 44.8 5.7 66.9 4.1 92.5 28 | 140.0 | 1.87 | 190.8 | 1.38
50 59.8 4.4 89.2 3.1 123.3 | 21 1742 | 1.25 | 234.0 | 0.92
60 67.0 4 99.9 2.8 | 138.1 19 [ 2140 1.2
70 85.4 3 127.3 | 21 176.0 | 1.4 | 231.8| 0.96
80 92.5 24 | 1379 | 1.7 | 190.7 | 1.18
90 104.7 | 2.5 | 156.1 1.8 | 2159 | 1.2
100 | 113.8| 22 | 169.8| 1.6 |234.0| 1.1
110 | 123.3| 1.8 | 1839 | 1.25
120 | 1396 | 1.9 | 208.2| 1.35
140 | 156.4 | 1.65 | 233.2| 1.2
150 | 173.7 | 1.22
160 | 1824 | 14
180 | 204.2 | 1.3
200 | 226.9 | 0.95

||'%] LIMING 11




MODEL . AK4/

# A& R~} Basic
B 71 8—M8xP1.b25?isTe12 140 4-M10xP1.5
= 45 PIUXFEPCDG102 10 FiR20
I 1Z P O ] CIm
1| f \ :
= o % “ ¢ N
R = ee = A A TOT \&
i HH
= 60 15
S o 351 130 A VIEW
% 183. 5
145 T S5
A
»
AJIRSF Input o
7 Al . &) o,
} A0 _ A3 7; 1|
e fr\ ) =
ANINE= @)L B, o 00
Input Flange . a ) T ond Hr
i ° lﬁ }7\__ §
186 B2
N M 2 o,.—i "
ik HiE 5 () 2
Motor &2 =i
A —2
186 146. 3
< 6 M6xP1. 0
. «213715
L - e
Input Shaft 8 o S
” 919 h7

A8 A9 A10 B1 B2

0.18kW

128 | 4 11 25
0.25kW | 89.5 130 | 110 | M8x1.25 | 160 | 5 231.5|223.5| 133
0.37kW 16.3| 5 14 31
0.55kW
0.75kW | 122 | 218 | 6 19 | 165 | 130 | M10x1.5 | 200 | 4.8 | 26 | 244 249.5| 161
1.1kW
1.5kW 132 | 273 | 8 24 | 165 | 130 | M10x1.5 | 200 | 4.8 | 51
2.2kW 254.5| 315 | 181
3.0KW 133 | 313 | 8 28 | 215 | 180 M12x1.75| 250 | 5.8 | 64

12



Hi 71R~F Output

Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

150 75 135
75 60
1 2.5
8 @‘5@0
Hh 7k [ g —f | 0
Rk [——
Shaft M10x22
AL Sz
L 1
<t
=
s 31
36|
Torque arm . . |
22.5 22.5
75 25.5 100.5__ 60
=gl
;I 2o | Blo
22 2 S —1 8|S
_ S| ® N
Flange
3.5 3.5
12 _ 12
11
3
/N olo
N 5’2
a . mw
[ [e)
S|
12 11
O U | | U |
O O O O O O O O O
6 218 | 11 | 298 | 809 |4375| 55 | 596 | 405 | 87.5 | 2.76 | 119.3 | 2.03
8 | 984 | 30 | 139 | 216 | 205 | 145 | 285 | 10 | 389 | 7.35 | 57.08 | 50 | 77.8 | 3.87 | 114.1 | 2.64 | 155.7 | 1.94
10 | 128 | 25 | 181 | 180 | 26.7 | 121 | 350 | 86 | 47.7 | 632 | 700 | 43 | 955 | 3.2 | 1400 2.18 | 191.0 | 1.60
15 | 176 | 18 | 249 |12.96 | 36.7 | 8.76 | 51.9 | 53 | 70.8 | 3.9 |103.8| 2.65 | 141.7 | 1.93 | 207.7 | 1.32 | 283.4 | 0.97
20 | 222 | 12 | 39 | 864 | 457 | 584 | 656 | 44 | 894 | 324 | 131.2| 22 |179.0 | 1.61 | 2625 | 1.10 | 358.1 | 0.81
25 | 280 | 10 | 391 | 72 | 578 | 486 | 875 | 3 |119.2| 221 |175.0| 1.5 |2387| 12 |350.0| 0.82
30 | 374 | 7.8 | 521 | 562 | 771 | 379 | 1141 | 2.65 | 1555 | 1.95 | 228.3 | 1.33 | 283.4 | 0.97
40 | 448 | 7 | 626 | 504 | 925 | 341 | 140 | 192 | 19.8 | 141 | 280.0| 0.96 | 358.1 | 0.81
50 | 598 | 49 | 834 | 353 | 1233 | 2.38 | 164.0 | 1.75 | 2235| 1.29 | 328.1 | 0.88
60 | 67.0 | 45 | 934 | 324 | 1381 | 219 | 2140 | 1.4 |291.7 | 1.03
70 | 854 | 36 | 1191 | 259 | 176.0| 1.75 | 2625 1.1 | 357.7| 0.81
80 | 925 | 29 | 1290 2.09 | 19.07 | 1.41 | 2853 | 1.06
90 |104.7| 2.8 |146.0 | 2.02 | 2159 | 1.36 | 309.1 | 0.85
100 | 113.8 | 2.6 | 158.8| 1.87 | 234.7 | 1.26 | 350.0 | 0.82
110 | 1233 | 21 |172.0| 151 | 2542 | 1.02
120 | 139.6 | 2.2 | 1947 | 158 | 287.8| 1.07
140 | 1564 | 2 | 2181 | 1.77 | 3224 | 0.97
150 | 173.7 | 1.5 |2423| 1.08
160 | 1824 | 1.7 | 2544 | 1.22
180 | 2042 | 14 |2849]| 1.01
200 | 226.9| 1.1

& LIMING 13




MODEL L AKS/

SR Basic 91 80 6-M12xP1. T5F VK17
20 % FRPCDB 125 - 152 | A ML2xPL 75
e . © O) FR23
j f IHE o) ¢
“ A
L OOV - |
= o \
> D) = 2o N4 j 2 ——m\O
N \ C?!
o 65 18 '
B 130 S 130 A VIEW
S 157 ? 220
@ A 222. 5
AF1R Input -
O 9 Xe) 6'76
v as MY e ,
Input Flange S 8, e,
2R e oo
17T L1
222.5 B2
© @O m
ok H = @ 1 — :
Motor ! >
é S TR }%’ «
222.5 144.3
@ O M6xP1. 0
40, »Gfﬂ:m
WL TSI - S
A R
Input Shaft & 8 % e 619 b7
° © }J— -

A9 A10 B1 B2

0.18kW

0.25kwW 87.5 128 4 M 130 | 110 | M8x1.25 | 160 5 2 245.5|221.5| 133
0.37kW 16.3 5 14 31

0.55kW

0.75kW 120 | 21.8 6 19 165 | 130 | M10x1.5 | 200 | 48 | 26 | 258 |247.5| 161
1.1kW

1.5kW 130 | 27.3 8 24 165 | 130 | M10x1.5 | 200 | 4.8 51

2.2kW 131 | 313 8 28 215 | 180 | M12x1.75 | 250 | 5.8 64 268.5) 313 | 181
3.0kW

3.7kw 131 | 31.3 8 28 215 | 180 | M12x1.75 | 250 | 5.8 | 64

ggtvwv 148.2| 413 | 10 38 265 | 230 | M12x1.75 | 300 6 85 279 | 3615 212

14



Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

Hi 71R~F Output

83 153
| 0
o) A 2.5
i =
Shaft 12 MI2x28 T
A S @ ®

192

0}
1 e G\ } EE
Torque arm . =

| T

21 21
83 23.5 106.5__ 70
d O d <©
2 A H1H-=3 i
A8 A8
Flange .
N 4
15 15
9
135
0 Ei ER
i% e
N — S
= E |
Ilo BN M2
I N
3
17 12
0 | | | | | | |
O O O O O O O O O O O O
6 226 | 19 | 30.9 [13.8) 45.3 | 9.4 | 60.3 | 7.1 | 88.5 | 4.8 [120.7| 3.5 | 148.6 |2.84|160.6 |2.66|221.3|1.93
8 |937 |55 13.9 |40 | 19.3 265 176.2| 2.5 /190.5| 2.3 | 262.51.86
10 | 134 |40 | 19.9 | 29 | 27.6 | 20 | 32.4 | 17 | 44.1 |12.5) 64.8 | 8.5 |108.5| 4.8 |159.0|3.3|217.0| 2.4 | 267.0|1.95/288.6 1.81|397.7 |1.31
15 | 16.8 |31 | 251 |22 | 347 |15 |53.1 |9.6| 723 | 7.1 |106.2| 4.8 293.7 |1.44|317.5 |1.33|437.50.97

20 | 216 |24 322 |17 | 445 115/ 68.0 |7.5| 92.7 | 55|136.1|3.7 |181.1| 2.8 |265.5|1.93|362.3 |1.41|445.8 |1.14/481.8|1.06/637.0| 0.8

25 | 28118419 | 13 | 579 |89 | 90.7 | 5.7 |123.6| 4.1 |181.4|2.8 |238.7 |1.78| 350 (1.21/477.5|0.89/594.4|0.86/637.0| 0.8

30 | 333 |16 |49.7 | 11 |68.7 |7.8|105.0| 4 |143.1|2.95/210.0|2.03/286.5|1.86| 420 |1.27|573.0|0.93|637.0| 0.8

35 | 40.1 [13.5/ 599 | 9.8 | 82.8 | 6.6 [122.3|4.3 |166.6| 3.1 |244.6| 2.1 | 345.2|1.59|506.1 |1.08

40 | 444 112|663 185|916 |56|134.5|3.1|183.3|2.3|269.0|1.58/362.3|1.41/531.1|0.96

50 | 555 |75|828 |56 |114.5|3.7 |179.3 |2.35/244.4|1.75/358.7 |1.19|477.5|0.89

55 | 648 | 8 |96.7 |56 |133.7|3.8|189.0|2.8 |257.5|2.05/378.0| 1.4 |517.91.06

60 | 741 (58(110.5|4.1 (152.7 (2.8 |212.4|2.4 |289.5|1.76/424.9| 1.2 | 573 |0.93

70 | 86.5 |6.05/129.0|4.35/178.3|2.91|/252.0 | 2.1 | 343.4 |1.55|504.0 |1.05

80 | 927 | 6 (138.2|4.3 |191.1|2.9 [286.3 | 1.8 |390.2(1.32|572.7 |0.91

90 |[102.6|5.3(153.0|3.7 |211.5|2.5|315.0|1.34/429.3|0.98/630.0| 0.8

100 |116.5|4.4173.8| 3.6 [240.3 | 2.1 |381.8 |1.36|520.3 | 1

110 [128.2]3.3|191.2|2.4 |1264.3|1.62/420.0| 1 |572.4|0.8

130 [155.4(3.4(231.8|2.4 |320.4 |1.64

150 |171.0]2.5|225.0| 1.8 |352.5|1.2

||'%] LIMING 15




MODEL . AKGE/

] Basic .
EXRY 94 90 6-M12xP1. 7T5F %15
30307 PAMUXSFRPCDO125 152  4-M12xP1. 75
47 FR24

230
160
95

@Q\’

173
88

\J5§

::©E®/@°

Y ¥ —E
|

T
:

&/
230
140

© ©
: = XGRS jL S TN\
2 \
o 70 20
o 140 HU 90 A VIEW
§ 170 ? 238
@ A 240. 5
AJIRSF Input .
Al m@@\ o
(o o). A9 NS %
N T o
Y 2% D= . ‘
Input Flange 1o HT A,
I e
240. 5 B2
-
CHO) S
> > — ﬁ% o )
otor -
— o NE
\ |
240. 5 144. 3
© O M6xP1. 0
40 -6 %
NSl )\ N < e
&) AR
Input Shaft [& © - T 619 ht
) © 2

A9 A10 B1 B2

0.18kW

0.25kwW 89.5 128 4 M 130 | 110 | M8x1.25 | 160 5 2 246.5|223.5| 133
0.37kW 16.3 5 14 31

0.55kW

0.75kW 120 | 21.8 6 19 165 | 130 | M10x1.5 | 200 | 48 | 26 | 259 | 250 | 161
1.1kW
1.5kW 130 | 27.3 8 24 165 | 130 | M10x1.5 | 200 | 4.8 51
2.2kW 131 | 313 8 28 215 | 180 | M12x1.75 | 250 | 5.8 64 269.5) 313 | 181
3.0kW

3.7kw 131 | 31.3 8 28 215 | 180 | M12x1.75 | 250 | 5.8 | 64

ggtx 148.2| 413 | 10 38 | 265 | 230 | M12x1.75 | 300 6 85 280 | 361.5) 212

16



Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

Hi 71R~F Output

‘ 90 170
80
o) A 2.5
i T =
o H
Shaft 12 q‘I M16x36 l___'=
L WP ;E
1S = i
}N | @) [®)| @]
Torque arm : | ,
=) N
28
23 113 80
<© o =)
2 ¥
[ —| gl =&
Flange © o
4
15 15
5
2
3
,: M12
0 0 0 0 0 0 0 0
6 22.05| 31 |30.05| 23 | 44.1 {158/ 57.3 | 12 84 |83|1146| 6 141 149 (1524145 | 210 | 3.3

8 8.98 | 78 [13.39| 55 (18.51| 38 |27.79 | 26 |37.88|19.5/55.59|13.3|72.23|10.3|/105.8| 7 |144.4|5.1 |177.7| 4.1 |192.1| 3.8 |264.7 | 2.8

10 |11.32|77 |16.88| 55 |23.33 | 38 |42.88| 19 |58.43|14.2/85.75| 9.7 | 111.4 | 7.5 |163.3| 5.1 |222.8| 3.7 |274.1| 3 |296.3| 2.8 |408.3 |2.04

15 |17.46| 48 |26.03 | 34 |35.98 | 23 |53.55|14.7|72.98|10.9/107.1| 7.4 | 139.1| 5.7 | 204 | 3.8 |278.3|2.85|/342.4| 2.3 |370.1 |2.14| 510 |1.55

20 |21.80|36 |32.51| 26 [44.94| 17 |66.15(12.6/90.15| 9.3 |132.3|6.3 |171.9|4.8 | 2562 | 3.3 |343.8|2.4 | 423 |1.97|457.2|1.82| 630 |1.32

25 ]26.93|30 |40.16| 22 |55.52| 15 | 88.2 | 9.5 (120.2|6.9 (176.4 | 4.7 |229.2| 3.7 | 336 |2.5|458.4(1.86| 564 |1.48/609.6 (1.37| 840 |0.99

30 |33.95|26 |50.63| 19 (69.98 |12.5|111.1| 8 |1561.5|5.9|222.3| 4 |288.9|3.1 (423.5|2.1 |577.8(1.54|710.9|1.25/768.4|1.15

35 128.6 6.5 (175.3|4.7 |257.2|3.2 |334.2| 2.5 | 490 | 1.7 |668.5(1.25/822.5|1.01

40 |45.26|19 | 675 | 14 |93.31|95| 146 |6.4 | 199 (4.7 | 292 |3.2 |379.5(2.47|556.3 [1.69| 759 [1.24

50 |59.46(15.5/88.67 |11.4(122.5|7.7 |[171.5|4.9 |233.7| 3.5 | 343 | 2.4 1461.2|1.81/676.2|1.23

60 |69.83| 12 |104.1|8.5|143.9|5.8 |214.2|3.7 |291.9| 2.7 | 428.4|1.85/581.4|1.53|852.3 |1.04

70 |77.73|11.5/115.9| 8.4 [160.2 | 5.7 |254.7 | 3.5 | 347.2| 2.5 | 509.5 |1.75|672.6 |1.24

80 |87.21| 9 | 130 | 6.6 [179.7 | 4.4 |294.7 | 2.8 |401.7 |2.08|589.5| 1.4 | 763.7 |1.23

90 |[102.6(8.5| 153 (6.3 [211.5|4.2 |334.6| 2.8 |456.1|2.07|669.3 | 1.4 | 840.1|0.94

100 [118.7(6.9| 177 |51 |244.6|3.4 |368.1|2.15/501.7 |1.58|736.3 |1.08

110 |134.7|6.8|200.9| 5 |277.8|3.3| 393 | 2.1 |535.6|1.55| 786 |1.06

130 |148.2|5.4| 221 | 3.9 |305.6| 2.6 |446.2|2.09|608.1 |1.54

140 |158.2|5.3| 236 |3.8 |326.2| 2.5 |490.8 |1.62|668.9 1.18

150 |179.7|5.2|267.9|3.7 |[370.4| 2.5

170 |197.6| 4 294.7|2.9 |407.4|1.95

||’g] LIMING 17




MODEL L AK/Z/

EAXR Basic " 8-M12xP1. 754 1420
97 ol PN FRPCD® 142
24 40° SPE A G 170 4-M16xP2
; A K32
= +_ ® °O
© P J\e—LIL
@ anYine | o
Lo
§ B ol | @ S &
] Z o S20° a0~ o © ©
i 5 ) AE’@ —r\O
L — © —
Lo
L II?I LL
Lo 82.5 22.5 40
& 165 —— 150 A VIEW
© 200 270.5
o A 273
ANJIRST Input
Al
o
ANINE= -alll=
Input Flange ==
UL |
o =
ik HIE
Motor % D
273 171.8
M8xP1. 25
L s0lz 8 Fi19
Input Shaft , o Loz
A\
Power A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 B1 B2 B3
0.55kW
0.75kW | 118 | 21.8 | 6 19 | 165 | 130 | M10x1.5 | 200 | 4.8 | 26 | 288 | 250 | 161
1.1kW
15kW | 128 | 273 | 8 | 24 | 165 | 130 | M10x1.5 | 200 | 4.8 | 51
2.2kW 298.5| 311 | 181
129 | 313 | 8 | 28 | 215 | 180 |M12x1.75| 250 | 58 | 64
3.0kW
3.7kw | 129 | 313 | 8 | 28 | 215 | 180 |M12x1.75 | 250 | 5.8 | 64
4.0kw 309 [359.5| 212
o o 146.2| 413 | 10 | 38 | 265 | 230 |M12x1.75| 300 | 6 | 85
OKW

18



Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

Hi 71R~F Output

105 205
o “ 100
2 Q@\\\ 18 5
i J280 A,
Shaft B Seb _E E
@) O
j:ﬂjj)a%a 2 © D Eo 3
Torque arm t ! L |
28 28
105 _ 37 142 100
v o ] gz g8
N it b ©
Flange % V- | 6 -
:I 4 :I,,_A
16 16
10
JIEN:
5
% "
RYA
— (@
t

Power 0.55kW 0.75kW 1.1kW 1.5kW 2.2kW 3.0kw 3.7kW 4.0kW 5.5kW

L oT(\m) S.F. oT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F. OT(Nm) S.F.
7 255 | 44 | 348 | 32 | 51.1 22 | 685 | 16 |1004 | 11 137 8 |1686| 6.6 | 1822 | 6.1 |251.1| 4.45

10 322 36 43.9 26 645 | 176 | 86,5 | 13.3 | 126.8 © 173 | 6.66 | 2128 | 54 230 5 317 | 3.63
15 498 | 275 | 679 | 198 | 99.7 | 13.8 | 133.7 | 10.3 | 196 7 2674 | 515 | 329 | 418 | 355.6 | 3.87 | 490 | 2.81
20 72.4 19 98.7 14 1449 | 95 |2055| 65 |301.3| 44 | 4111 | 3.25 | 505.8 | 2.65 | 546.7 | 2.45 | 753.3 | 1.78
25 96.8 14 | 1319| 105 | 1936 | 71 |2595| 53 |3804| 362 | 519 | 265 | 616.4 | 2.15 | 666.3 2 918.1 | 1.45
30 | 1022 | 13.2 | 1393 | 9.6 |204.4| 6.5 274 49 4018 | 3.35 | 5481 | 245 | 6919 | 163 | 7478 | 15 |1030.5| 1.1
35 (1247 11 1699 | 7.9 |2494 | 54 346 4 507.2 | 272 | 692 2 851 1.57 | 919.9 | 1.45 |1267.5| 1.05
40 140 8 190.8 | 5.9 280 4 3964 | 34 |581.1| 23 |7928 | 1.7 987 | 1.39 |1066.8| 1.28 | 1470 | 0.93
45 | 166.6 | 8.1 227 59 |333.2| 41 |4466| 30 |6548| 20 |8933| 1.5 |10745 1.28 |1161.4| 1.18 |1600.3| 0.86
50 | 1722 | 7.7 | 2346 | 57 |3444| 39 |5005| 2.76 | 733.7 | 1.88 | 1001 | 1.38 |1233.7| 0.91 |1333.5| 0.85
55 | 199.5| 6.9 |271.8| 49 399 | 345 | 5285 | 255 | 7749 | 1.74 |1057.1| 1.27 | 1316 | 1.04 |1422.4| 0.96
60 | 2174 | 6.3 | 296.3| 4.65 | 4348 | 3.15 | 595.5| 2.26 | 873 1.5 [1191.1| 1.13 |1432.7| 0.95 |1548.5| 0.88
70 | 2493| 45 |3393| 33 |4987| 22 |667.3| 2.08 | 9783 | 1.41 [1334.7| 1.04 |1660.6| 0.82
80 |289.8| 4.7 395 35 | 579.7| 24 | 7735 1.78 | 1134 | 1.21 |1547.1| 0.89
90 336 41 | 4579| 29 672 | 2.04 | 861.4| 1.55 [1262.8| 1.06 | 1687 | 0.8
100 | 3741 | 3.6 |509.9| 262 | 7483 | 1.8 | 966.9| 1.16 |1417.5 0.8
110 1031.4| 1.34 | 1512 | 0.91
120 | 420 33 | 5724 | 245 | 840 | 1.66 |1148.6| 1.18 |1683.8)] 0.8
130 | 448 31 | 6105 | 226 | 896 | 1.55 |1289.2| 0.88
140 | 4989 | 2.7 | 679.9 2 997.8 | 1.35
160 | 560 2 763.2| 15 | 1120 | 1.02

& LIMING 19



MODEL . AK8/

340

#A& R~} Basic -
132 6-M16xP2 41526
52 P BRPCD@ 178 9295 4*MH16XP2
' E" 65 FIR32
Te) ! /O l\
g E N 5o - e < 1
5 e % E = V& 87 | ]
< £0 N !
- ﬁ | 450 AsB — - i $
© TH e i £ ! NC ~
(S o090 |
HI T I
N 90 30 55
P 180 * 180
* 230 éii A VIEW
A
AJIRSF Input
ANTIEE
Input Flange
ik HIE
Motor
M10xP1.5
H 60 %
VNVALi s
Input Shaft H; -

Power A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 B1 B2 B3
1.5kW 133.5| 27.3 8 24 165 | 130 | M10x1.5 | 200 | 4.8 51

2.2kW 336 | 316 | 181
3.0KW 1345 31.3 8 28 215 | 180 | M12x1.75 | 250 | 5.8 64

3.7kw 134.5| 31.3 8 28 215 | 180 | M12x1.75 | 250 | 5.8 | 64

4.0kw 346.5|362.5 | 212
P 149.7| 413 | 10 38 | 265 | 230 | M12x1.75 | 300 6 85
.5kw




Y2 HEHE IS E0 L 3E 4 Helical-Bevel Gear Reducer

Hi 71R~F Output

240

120 120 240
le q)Q)Q\\'\ 18 %Q\(\’\ ‘ij 120A[k5
<~ - [ —
gjhjjffIEE % & 18 0% I—% E
a
0 :
)R ° (X o) %C:%
Torque arm muii . . . |
s0 | 31 31

4-917.5

120 30 150 120
PN \ ol o ii ol
S e 3l 3 2|2
EEt! " Sk % s
Flange - .AL G o\ [ G
18 1]
30" 30 Ay
/N
1%
EVA |
o 5o | 7D © D) :
N
26 15
1.5kW 2.2kW 3.0kW 3.7kW 4.0kW 5.5kW
oTNm)  S.F. OT(Nm)  S.F.  OT(Nm) . or’nm) SF.  ornm) SF ofnm)  S.F.
15 | 1449 18 2125 12 289.9 9 357.4 73 386.4 6.8 531.4 49
20 | 1855 13 272 9 371 6.5 4575 5.4 494.6 5 680.1 3.6
25 | 2551 11 374 7.5 510.2 5.6 629.1 45 680.1 42 935.2 3
30 | 2834 8.5 4155 5.8 566.9 43 699 35 755.7 3.2 1039.1 | 2.34
40 | 4011 6.5 588 45 802.2 3.2 989.1 265 | 1069.3 | 245 | 14704 | 1.78
45 | 4348 6 637.5 4 869.7 3 10723 | 245 | 1159.3 | 226 | 1594.2 | 1.65
50 | 485.8 5.9 712.2 3.9 971.7 2.9 1167.3 | 2.08 1262 193 | 17353 14
55 | 534.8 49 784 33 1069.6 | 2.45
60 | 579.3 45 850 3.1 1159.6 | 226 | 14298 | 1.83 | 15457 17 | 21256 | 1.23
70 | 7421 3.3 1088 225 | 14843 | 167 | 16517 | 159 | 17856 | 1.47 | 24555 | 1.07

80 765.3 3.7 1122 2.5 1530.7 1.85 1887.3 1.51 2040.4 1.4 2805.8 1.01
90 850.4 2.86 1246.6 1.95 1700.8 1.43 2097 1.16 22671 1.07
100 | 1020.4 2.8 1496 1.9 2040.9 1.4 2387.7 1.1 2581.3 1.02
110 1060 2.33 1554 1.59 2120.1 1.16 2516.4 1.13 2720.5 1.05
120 | 1133.8 2.15 1662.2 1.46 2267.7 1.07 27961 0.87
130
150 | 14134 1.75 2072 1.19 2826.8 0.87
170 | 1619.5 1.5 23741 1.02
200 | 1943.4 1.47 2849 1.0
230 | 2159.3 1.12

||'%] LIMING 21



Mounting positiong
ZEFA

ZERITATEE

Mounting position designation

Rl EREaEME

Positiong of the motor thermal box

22



Relevant Parameter

ERAHRSE

1. ThEP

P =2 [kw]
n
Pln > P] . SF

P, HIANDIE
P, I
P, HNLEUE D
SF Z&RH
N fRERE

LMK 251 U 5 g ALK A B 203 M D 94%

2. B3 n

N, IRGENUE SR
n,  RCGENLUH AR

AR SN s B IS, Oy T
TARFAFAR S M A5 fr, WL 14000 /min
BUEAREEHE . VPG AR, B4
RAHOLT, WUEHAE OT 2 .

3. f£3ht i

n
=21
n,
LB IR /N, Rk R PO DU
ANHIME (HEERfEE) LB R F])D

4. {5 OT

_9550P
n

oT ]

2

OT, > OT-SF[Nm]

OT #Hi4E (Nm )

0T, EMHHIME (Nm )
P, HIATHE kW)

SF ZR R

N R

Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

1.Power P

P =2 [kw]
n

P,- P,.SF

P, Input power

P, Output power

P,, Rated power driving motor
SF  Safetyfactor

1n  Transmission efficiency

LMK Series gear units transmission efficiency 1=94%

2.Rotation speed

n, Gear units input speed
n, Gear units output speed

If driven by the external gearing,1400r/min or lower
rotation speed is suggested so as to optimize the working
conditions and prolong the service life.Higher input rotation
speed is permitted,but in this situation,the rated torque OT
will be reduced.

3.Transmission ratio i

Usually transmission ratio is decimal, in the selection
table for rounding value (accurate transmission ratio, please
contact us)

4.Torque OT

_ 9550
n

oT ]

2

OT, > OT-SF[Nm]

OT  Output torque (Nm )
0T, Selected output torque (Nm )
P,  Inputpower (kW )
SF Safety factor
n Transmission efficiency

& LIMING 23



Relevant Parameter

BRI RS

5. ZERH SF

IR AL SR ) 32 IR B R AL 1 SF %
ERBORBTR . 2 R EARIE (R iz e
I TR RR SR 7 1 5E 1 -

=R RBCR TR I R L R
P rh R LS S B B2 P 1) 22 4 R 3 4% R i
B 22 4 R B AU T 808 25 TR RES MR
IR A R A

5.Service factor SF

The effect of the driven machine on the gear unit is taken
into account to a sufficient level of accuracy using the service
factor SF .The service factor is determined according to the
daily operating time and the staring frequency Z .

Three load classifications are considered depending on
the mass acceleration factor . You can read off the service
factor applicable to your application in following Figure.
The service factor selected using this diagram must be less
than or equal to the service factor as given in the performance
parameter table .

BTN CRITER)

24
h 16h 8h run time (h/day)
C
184 174 18 —
/
174 164 1577
6l 15 14 =
7 13
15 4 12
5 - 2 +f A
134 1S
M1 124 4, ///——————"'"
s I/
12| 104 os8
o 200 400 600 800 1000 1200 1400
et AHLSF) REEE Z GRiAR) #
Service factor (SF) start up frequency Z (1/h) #

# JREIIR 7
UL R A L e A AR A R R

5.1 SBRE
A BRSSOV R A fa < 0.2

B Al A, SR VFIIMEINE R E fa < 3
C HEppih gk, FVFRPENNEREL fa < 10

UEESIE:
5. 2 R NE R %
HEE AT A T

ﬁ:jg

Jm
fa  WRPEINE R
Jo  FTEANAESIRE (ken')
Jm  IRBHEHLAES R (ken®)
SRR INE R EL fa > 10, EEEARTRA

N T ORFFBGENLE AL A i, A A
Hh BTk R I 4 4 BB ST R4S T Bl v T H B
H B4 A 5 ST

FIE A R B B

# Starting frequency Z:The cycles include all starting and
braking procedures as well as change overs from low to
high speed.

5.1 Load classifications

A Uniform shock load,permitted mass acceleration

factor fa<0.2

B Moderate shock load,permitted mass acceleration

factor fa<3

C Heavy shock load,permitted mass acceleration

factor fa<10
Load classifications see the addendum

5.2 Mass acceleration factor

The mass acceleration factor is calculated as follow:

_le
Jm

fa

fa ~ Mass acceleration factor
Je  All external mass moments of inertia (kgm®)
Jn  Mass moment of inertia on the motor end (kgm®)
If mass acceleration factors fa > 10,please call our
Technical Service
To keep the service-life of gear units,the use factor ST
selected from the catalogue must be equal or slightly higher
than the calculated use factor ST .

24



Relevant Parameter
RRIHRSH

6. RERAT Fr

FEYE B R IR e B L1
FEBME ST BT A, R RIS e 5
PR BRI BN AL £z, BT

Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

6.Radial loads Fr

When deter mining the resulting radial loads,the type
of transmission elements,mounted on the shaft end must be
considered. Various transmission elements are corresponding

with following transmission element factors fz.

&N FEZN BN R 2L Fz R
Transmission element Transmission element factor Fz Comments
1.00 = 1715 teeth
Wik Gears
1.15 < 17 14 teeth
1.00 = 20 14 teeth
BERS Chain sprockets 1.25 < 20 5 teeth
1.40 < 13 {4 teeth
V ifi#  Narrow V-belt pulleys 1.75 B JI1ER influence of the tensile force
“Firke  Flat belt pulleys 2.50 [ % IEH influence of the tensile force
W% Toothed belt pulleys 2.50 % 71E A influence of the tensile force

Y HBLA A 40 RO P R et
AR

p o M20001,
dO

Fr o fEMZEH L M3HT N]

Mo fEFAE_E RO [Nn)

do  BERAES EROEEN T % (nn)

. BN AL Eh R AL

YRS VAT A% 1) 8 AT (A B A2 el AR A0 5
FZ5ar LHIO ML 5HE ARHE IS0 281). XtF
REERIEFH 2605, VP rT AR R B A A 2 A O
Je W F 75 o U e DAL P an o Al b 9 ]
fugf Fr, SITEE AR, HALE, HHKRE
H o

The overhung loads exerted on the motor or gear shaft is
then calculated as follows:

 M2000-f

K “[N]

T do

Fr  Resulting radial load [N]

M Torque on the shaft [Nm]

d, Mean diameter of the mounted transmission
element in [mm]

f,  Transmission element factor

The basis for determining the permitted radial loads
is the computation of the rated service life LH10 of the
bearings(according to ISO 281).For special operating
conditions,the permitted radial loads can be determined
with regard to the modified service life. The permitted radial
loads Fr, for the output shafts of gear units are listed in
the selection tables. Contact our company in case of other
versions.

||'%] LIMING 25



Relevant Parameter
B RS E

I SE B AR U ANE Sl O i, %
R P25 Y BV AT AR i) AR A A DA 24 3R
THER, WP AR R R B, AN A A
Fo (5Bl AR 0 FH 73 ) A By (22T Bl (19 532
FE) AE X mIVFATEUE . e fE T RN IR
M

2 max o

a
F, =F N
xL r2b+x[ ]
C
= N
xW f+X[ ]

Fr,  AR¥EGEEER A s AL i vF vl 42 1m) 2 air
(x=L/2) [N]
X 8 B SEFRAE R SRR ES [mm]

ab,f WHIHGENAR A 4R & (]
¢ URRRIBIENLIR A S ALE A BR[N]

The permitted radial loads given in the selection tables
must be calculated using the following formula in the event
of force application not in the center of the shaft end. The
samller of the two values Fy, (according to bearing service
life) and Fyy, (according to shaft strength) is the permitted
value for the radial load at point x. Note that the calculations

apply to M2 max .

a
F, =F N
xL r2b+X[ ]
C
= N
xW f+X[ ]

Fr, Permitted overhung load (x=L/2) for gear units
according to the selection tables in [N]

X Distance form the shaft shoulder to the force
application point in [mm]

a,b,f Gear unit constant for overhung load conversion [mm]

c Gear unit constant for overhung load conversion[Nmm)]

DAL =
Gear unit type
LMK37 123.5 98.5 1.41x10° 0 25 50
LMK47 153.5 123.5 1.78x10° 0 30 60
LMK57 169.7 134.7 6.8x10° 31 35 70
LMK67 181.3 141.3 4.12x10° 0 40 80
LMK77 215.8 165.8 7.69x10° 0 50 100

26




Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

Addendum
ipa

WOENL A ERIFIER (%) Charge Characteristic Char (for reference)
o T T

ML il FI421A) - Air blower(axial or radial) AT KL 335 B Derrick gear assembly
A HEE X Fan of cooling tower a3 B Steering gear assembly

5| XML Induced draught fan 1TE K ALIAEEE Moving gear assembly

12 e 35 ZE 20 XL Rotary piston type fan 139 1272125 LAND DREDGER
1A% XML Turbo-fan A AR AEZENL Drum-type coveyer

HHFHLMZE CONSTRUCTION MACHINERY 2 1& 311 Drum-type rotation wheel

TR FEHL Concrete mixer ¥27E % Dredger head

L Hoist HlBh%i % Powered crab

PRI SN Road building machinery % Pump

£ifLAL Boring mill RE N kA L2 EH Pump turning gear assembly

1 THLZE CHEMICAL MACHINERY TENRALIXSEE (JBHF) Moving gear assembly(apron wheel)
WAL GlifR)  Mixer (liquid) TENRAAZIEE (B¥L) Moving gear assembly (track)
PEHENL CGEWAA)  Mixer (half liquid) & Tk HLMEZE FOODSTUFF PROCESSING MACHINERY
EOHL (A Centrifuge(heavy) HEVE M B HL 2 Placer or box filler
Bl () Centrifuge(light) H & JE¥ENL Cane crusher

A EIVE T #* Cooling rolling drum HEETIW ML **Cane cutter

TR {4 s Dry rolling drum HREEM AL #xCane crasher

HFEHL Mixer PFEHL Mixer

15 ZE B4 Piston type compressor 24541 Packager

E FEZEHL Turbo-compressor B |BEEHEVIMIHL Beet slicer

%12 HiH2% TRANSMIDDION FREIGHTER BESIEIE YL Beet washing machine
FARAEIENL Pan conveyer

W@ >
O|m| | >

W W W T

0O TmLOTOIOO

W W W || T >

@)

W > 00O |T > >

P Tt 41 Balance lifter PRI EE Frequency converter C
Tl A% 1% M1 Trough conveyer R BIHL. Motor C
T AEENL CKfF) Ribbon conveyer(large piece) YK ML Welding motor C
HRALIENL (EEL Ribbon conveyer(small piece)
B2 E 4L IEHL Drum-type flour conveyer ¥ Rolling drum B
B X AEZEAL Chain conveyer PEAHL Washing machine B

A AEZENL Ring type conveyer
TWF AL Lifter
&4l Hoist

4@ ELHIZE METEL ROLLER MACHINE

AHERBY WAL *+*Steel cutter
i XHIE AL #+Chain conveyer

W W W HI W W W HF T W > O FH

BEMFAEIENL Crank-connecting conveyer A ELHL *+xCold mill

Y F L Lifter ERE W % Continuous casting equipments
12 f£1% L Worm conveyer IR #%Cold bed

Wi AZEHL Steel-band conveyer BRIk sekCropper

B AL 3% M1 Chain reed-type conveyer A X LB ik M #*Cross steering stransmitter
KR inkidl Crab freighter 4541 **xDeruster

ECE AL HOIST AR R B ELHL skHeavy and medium steel mill
A E LS E Bracket swing gear assembiy | B |[#ERYIELHL **Bar mill

OO0 O | W(w O W o

||’$] LIMING 27



Addendum
P73

JIEN A BIRER (%) Charge Characteristic Char (for reference)

B HERIHL Bar pusher

BLLSE (FEifA) Centrifugal pump (thin liquid)

#EPR Push bed

BLE CEWA) Centrifugal pump (half liquid)

BUHR AL **kShears

7% #£ ¢ Displacement pump

WA £ TFF& & s+Lunber elevator platform

F:%E%E Plunger pump

LR #AEE Roll adjusting equipments

a|aa|w| >

J£71% Force pump

R EAL Roller levvling machine

FLANPLARIE (EAY)  Mill rolling way(heavy)

JE AL **+ Glazing press

FLANMLERE (%A Mill rolling way(light)

FFHEML *#* Ejecting press

R FLHL ** Sheet rolling mill

12 )i [ H 41 **Spiral extruding machine

1BFEBIYINL #* Trimming shears

W W W @

VB AL s Mixing machine

JEE M Pipe welder

JEEHL (A AIZAF) Solder machine(belt material and wire rod)

JE AL *#* Glazing press

L Hi il Wire drawbench

%)) /1% Power shaft

T OO OQ|E I | I QR T

OSSN CNONENOOS 2 - 7+ . ++ Mixing sir machine

BrEML *#+ Ejecting press

24 Ml Kneading machine

M HL *+ Forging machine

QW ® Olw

B EML ** Roller machine

H%E Drop hammer

MUK M i Bh2% E Machine tool and necessary

BREENL Ball crusher

WUR K 32 844 5)%% B Machine tool and main driving equipment

B ERHEML #* Ejecting press and breaker

4 JBHIK Metal facing machine

HEFENL Breaker

WARSF EALR Plate-leveing machine tool

JEREH Brick press

1R Backing-out punch

FERHEEAL #+ Beating crusher

MEMNLER Press machine tool

4P xx Converter

BYFRK Cutting machine

oo a alw

AR EEH] sk Cylinder mill

T ZS i HLR Sheet bending machine tool

WwWaaQaQQw e O al>

iZ#| Feeding machine
§AIH i % Pump pf oil pipe line B |Zi4i#l Loom machine
A5 % Rotar drilling equipment C |EP#%eHl Dyeing machine

K& 5 Purified drum

W W W | I

JEJ6HL #* Glazing press C &%l Welon machine

Z JZ 4R AL ** Multilayer paper board machine C

TR s Drying cylinder C | AML *+ Air blast B
R #+ Glazing cylinder C [BRFF#E Screw pump B
BEITHL ** Masher ¢ AKUITHUR WOOD PROCESSING MACHINE TOOL |
1 2Z ERENL #+ Mashing and breaking machine C |#|&#HL Barker C

W K& **+Suction roll C |fUlPR Facing machine B
HIAWR AL % Wetpaper roller machine C |¥%/K Saw bench C
W /K& EHLA #+ Water absorbing roller machine C | AR¥INTHLIE Wood processing machine tool A
B F Hl. Welon machine C

e A- Sl gk B- RS R - Epbd s e AT 24 /NB TAER
Nonte:A-Uniform load;B-Moderate shock load;C-Heavy shock load;**-For 24 hours system.

28



Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

& UMING 29



Addendum
omx

30



Y2 HEHE LS E0 L 384l Helical-Bevel Gear Reducer

« 20171 AR

CHF R, ARG TR AU, R

BT ERRIE SIBRARN KR, HRRGSSIREER, HRE.

TR G R R, RSN FE, ARSI AT SO E

s REFETHER CR5ESR, EHENMEZ, BRERAER, 517580 5% A R AT#ik.

* November, 2017

* We ask for your understanding if due to product improvements theproductand colors in this catalogue
have not yet been updated.

* We also ask for your understanding if due to printing limitations the objects and colors in this catalogue
do not match the actual products exactly.

* The products in this catalogue have been registered with the patents office. The reprinting of this
publication in any from or the imitation of any of the products described within is expressly forbidden
without the express permisson of the LI MING MACHINERY CO .,LTD.

& UMING 31



MENWEKRSERAE

(=) kEPHEFLIEEE—RIONS
( 1st ) - AddrgssNND- RPO\ E8q N ER YuRD. Tapzi D,
Dist., Taichung City 427, Taiwan

- Tel:886-4-25314888 -Fax:886-4-25338982

(Z)-#t tEEhHEFLIEER—KR36S
( 2st ) - Address: No. 36, Sec. 1 ; Tan Fu Rd., Tanzi
Dist. Taichung City 427, Taiwan
- Tel:886-4-25353887 -Fax:886-4-25353861
- Http: //www.li-ming.com
- E-mail:info@li-ming.com

LBANEBIMBRAE

SHANGHAI LIKUN MACHINERY LTD.
i FETERREABERBES
-Address: NO. 252 Ying Lian Road , Bai He Town ,Qing Pu
Shanghai China
-Tel:+86-21-5974-0789 -Fax:+86-21-5974-0600

AEMENBERAT

DONGGUAN LEADER MECHANICAL&ELECTRICAL LTD.

M ik TREREHEEREAS DAL TIVEERTS

-Address: No.7,Heng Red., Daluosha Venture Park, Daojiao Town,
Dongguan City, Guangdong Province, China

-Tel:+86-769-8832-7055 -Fax:+86-769-8838-7059

S
BIANESZEINBEGIRAA
XIAMEN LIMING PRECISION MECHANICAL & ELECTRICAL LTD.
it fb EEEEIHEEHX (R ) Pl KB5S 1015 5T(
-Address: West of Union 101,No.15,Xianghong Rd., Torch Hi-Tech Zone
(Xiang' An) Industrial District ,Xiamen City, Fujian Province,
China

-Tel:+86-592-7681301 -Fax:+86-592-7681300




